. M\ WANDFLUH
w Hydraulics + Electronics

Module type manifold systems

Fixation for module type many fold

* Fixing brakets
* Fixing screws

FIXING BRAKET

NG10

AB101 zinc coated

4

Art. Nr. 171.1003

AB102 zinc coated

Art. Nr. 171.1002

14 e 3 — + . P
212 212
J’ ! = = J} : !
? 23 12 35 12 ? 23 12 3 12
<,L> e 8 = <L4>1 = 8 =
For mounting a complete assembly 2 fixing brakets are required.
1 off AB101
1 off AB102 (mounted on block side with O-ring counter bores)
FIXING SCREWS
Socket head cap screw Nut zinc coated
Article No. 153.1602
SW18
o~ / o
R T | Y | I D =
18 35 l‘&
L 10,8
gt |
Number Description and dimension ( M12xL) Fastening torque Article No.
1 block Stud M12x114 ETG 100 black 80 Nm 224.6007
2 blocks Stud M12x186 ETG 100 black 80 Nm 224.6000
3 blocks Stud M12x258 ETG 100 black 80 Nm 224.6001
4 blocks Stud M12x330 ETG 100 black 80 Nm 224.6002
5 blocks Stud M12x402 ETG 100 black 80 Nm 224.6003
6 blocks Stud M12x474 ETG 100 black 80 Nm 224.6004
7 blocks Stud M12x546 ETG 100 black 80 Nm 224.6005
8 blocks Stud M12x618 ETG 100 black 80 Nm 224.6006
Wandfluh AG Tel. +41336727272 E-mail: sales@wandfluh.com lllustrations not obligatory Data sheet no.
Postfach Fax +41336727212 Internet: www.wandfluh.com Data subject to change 2.9-126E 1/1
CH-3714 Frutigen Edition 07 31



